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5¿: 1. �Áò�8�K.

2. ¤k�KÑL�3dÁò��µ�m>,�3Ù§�þ�ÆÃ�.

3. �µ��>�Õ�K,�µ�	Ø�k6¶9�'IP.

4. X�K�xØ
,��3���¡,¿I²KÒ.

�! (�K 20©,z�K�5©)W�K
�©

µ�<

(1) �¢�
 H1 =

(
0 1

1 0

)
§Hn+1 =

(
Hn I

I Hn

)
§n ≥ 1§Ù¥I´�HnÓ��ü 

�
©K rank (H4) = .

(2) lim
x→0

ln(1 + tan x)− ln(1 + sin x)

x3
= .

(3) � Γ��m­�


x = π sin

t

2
,

y = t− sin t,

z = sin 2t

, t ∈ [0, π] .K1�.­�È©
∫

Γ

esinx
(

cosx cos y dx−

sin y dy
)

+ cos z dz = .

(4) ��g.f(x1, . . . , xn) = (x1, . . . , xn)A


x1

x2

...

xn

�Ý
A�


1 a a · · · a

a 1 a · · · a
...

...
...

...
...

a · · · a 1 a

a a · · · a 1


,

Ù¥n > 1, a ∈ R. Kf3��C�e�IO/� .
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µ�<

¡

S :
x2

a2
+
y2

b2
+
z2

c2
= 1, a, b, c > 0

9S	Ü�:A(x0, y0, z0)§LA:��S ���¤k���¤I¡Σ. y²µ�3²

¡Π§¦���S ∩ Σ = S ∩ Π¶Ó�¦Ñ²¡Π��§.
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§�÷
�©

µ�<

v

AB −BA = C, AC = CA, BC = CB.

1. y²µC´�"�
¶

2. y²µA,B,CÓ��quþn�
¶

3. eC 6= 0,¦n����.
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o!£�K20©¤� f(x)3 [0, 1]þk��ëY�
�©

µ�<

¼ê,� f(0)f(1) > 0. ¦y:∫ 1

0

|f ′(x)| dx 6 2

∫ 1

0

|f(x)| dx+

∫ 1

0

|f ′′(x)| dx.
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�
�� Ê!£�K15©¤� α ∈ (1, 2), (1−x)α�Maclaurin
�©

µ�<

?ê�
∞∑
k=0

akx
k, n× n¢~êÝ
 A��"Ý
, I �n�

ü 
. �Ý
�¼ê G(x)½Â�

G(x) ≡
(
gij(x)

)
:=

∞∑
k=0

ak(xI + A)k, 0 6 x < 1.

Áyéu 1 6 i, j 6 n,È©
∫ 1

0

gij(x) dxþ�3�¿©7�^�´ A3 = 0.
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8!£�K15©¤k.ëY¼êg(t) : R → R ÷
�©

µ�<

v1 < g(t) < 2. x(t)(t ∈ R)´�§ ẍ(t) = g(t)x�üN�).

¦yµ�3~êC2 > C1 > 0÷v

C1x(t) < |ẋ(t)| < C2x(t), t ∈ R.
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